

CITY OF FORT LAUDERDALE RFP EVALUATION COMMITTEE TABULATION - FINAL RANKING - Single Space

RFP# TITLE: DATE:

12342-805 Parking Meter Technology, with Maintenance and Support 9/9/2020

					Rater #1 -	Shelly Brads	haw			
	The fitness a proposed equintended use	uipment/softw	vare for the		Presentation		Total Cost incl processing an fees for ann maintenance charges for ar equi	s, warranties, nd software and ancillary ary software,		
PROPOSING FIRM	Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Total Points Awarded
lowbird	0.35	2	0.70	0.35	2	0.70	0.30	3	0.90	2.30
Global Parking Solutions	0.35	3	1.05	0.35	3	1.05	0.30	1	0.30	2.40
PS Group	0.35	- 4	0.35	0.35	1	0.35	0.30	2	0.60	1.30

				Ra	ter #2 - Juan I	Rodriguez				
	proposed ed	and performa quipment/soft se of the City period	ware for the		Presentation		Total Cost in processing a fees for an maintenanc charges for a eq	nd software and ancillary ary software,		
PROPOSING FIRM	Weight Factor Ranking Point Subtotal			Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Total Points Awarded
Flowbird	0.35 2 0.70			0.35	2	0.70	0.30	3	0.90	2.30
Global Parking Solutions	0.35 3 1.05			0.35	3	1.05	0.30		0.30	2.40
IPS Group	0.35 1 0.35			0.35	1	0.35	0.30	2	0.60	1.30

				Ra	ater #3 - Jenni	fer Peters				
	proposed e	and performa quipment/soft se of the City period	ware for the		Presentation		Total Cost ind processing at fees for an maintenanc charges for a equ			
PROPOSING FIRM	Weight Factor Ranking Point Subtotal			Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Total Points Awarded
Flowbird	0.35	2	0.70			0.70	0.30	3	0.90	2.30
Global Parking Solutions	0.35	3	1.05	0.35	3	1.05	0.30	1	0.30	2.40
IPS Group	0.35	0.35 3 1.0 0.35 1 0.3			1	0.35	0.30	2	0.60	1.3

					Rater #4	1 - Jeffery Da	vis				Ī			
	proposed ed	and performa quipment/soft se of the City period	ware for the				processing at fees for an maintenanc charges for a	cluding the cost of and other services and hardware are agreements, a any other necess aipment or services	s, warranties, nd software and ancillary ary software,					
PROPOSING FIRM	Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Total Points Awarded	Total Combined Points	Average Points Awarded	Total Final Score	FINAL RANKING
Flowbird	0.35	2	0.70	0.35	2	0.70	0.30	3	0.90	2.30			2.30	2
Global Parking Solutions	0.35	3	1.05	0.35	3	1.05	0.30	1	0.30					3
IPS Group	0.35	1	0.35				0.30	2	0.60	1.30	5.20	1.30	1.30	1



CITY OF FORT LAUDERDALE RFP EVALUATION COMMITTEE TABULATION - FINAL RANKING - Dual Space

RFP# TITLE: DATE: 12342-805

Parking Meter Technology, with Maintenance and Support 9/9/2020

					Rater #1 -	Shelly Brads	haw			Ī
	proposed e	and performa quipment/soft se of the City period	ware for the		Presentation		Total Cost in processing a fees for an maintenanc charges for a equ			
PROPOSING FIRM	Weight Factor Ranking Point Subtotal			Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Total Points Awarded
Flowbird	0.35 1 0.35					0.35			0.60	1.30
Global Parking Solutions	0.35	1	0.35	0.35	2	0.70	0.30	1	0.30	1.35

				Ra	ter #2 - Juan I	Rodriguez				
	proposed e	and performa quipment/soft se of the City period	ware for the		Presentation		Total Cost in processing a fees for an maintenanc charges for a eq			
PROPOSING FIRM	Weight Factor Ranking Point			Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Total Points Awarded
Flowbird	0.35	1	0.35		1	0.35	0.30	2	0.60	1.30
Global Parking Solutions	0.35 1 0.35			0.35	2	0.70	0.30	1	0.30	1.35
	0.35 1 0.35									

				Ra	iter #3 - Jennif	er Peters				
	proposed e	and performa quipment/soft se of the City period	ware for the		Presentation		Total Cost in processing a fees for an maintenanc charges for a eq			
PROPOSING FIRM	Weight Factor Ranking Point			Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Total Points Awarded
Flowbird	0.35 1 0.35					0.35	0.30		0.60	1.30
Global Parking Solutions	0.35	1	0.35	0.35	2	0.70	0.30	1	0.30	1.35

					Rater #4	- Jeffery Da	vis							
	proposed e	and performs quipment/soft se of the City period	ware for the		Presentation			cluding the cost of and other service nual hardware and the agreements, and other necessuipment or service.						
PROPOSING FIRM	Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Total Points Awarded	Total Combined Points	Average Points Awarded	Total Final Score	FINAL RANKING
Flowbird	0.35	1	0.35	0.35	1	0.35	0.30		0.60	1.30	5.20	1.30	1.30	1
Global Parking Solutions	0.35	1	0.35	0.35 0.35 2 0.70		0.30	1	0.30	1.35	5.40	1.35	1.35	2	
				5.50										-



CITY OF FORT LAUDERDALE RFP EVALUATION COMMITTEE TABULATION - FINAL RANKING - Multi-Space Pay-By-Plate

RFP# TITLE: DATE: 12342-805

Parking Meter Technology, with Maintenance and Support 9/9/2020

					Rater #1	 Shelly Brads 	haw			
	proposed ed	and performa quipment/softw se of the City period	ware for the		Presentation		Total Cost in processing a fees for an maintenanc charges for a eq			
PROPOSING FIRM	Weight Factor Ranking Point Subtotal			Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Total Points Awarded
Flowbird	0.35		0.70	0.35	2	0.70	0.30		0.90	2.30
Global Parking Solutions	0.35 2 0.70			0.35	3	1.05	0.30	2	0.60	2.70
IPS Group	0.35 1 0.35			0.35	1	0.35	0.30	1	0.30	1.00
				Ra	ter #2 - Juan I	Rodriguez		aluding the cost		·

				Ra	ter #2 - Juan f	Rodriguez				
	proposed ed	and performa quipment/soft se of the City period	vare for the		Presentation		Total Cost in processing a fees for an maintenanc charges for a eq			
PROPOSING FIRM	Weight Factor Ranking Point		Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Total Points Awarded	
Flowbird	0.35	2	0.70	0.35	2	0.70	0.30		0.90	
Global Parking Solutions	0.35 3 1.05			0.35	3	1.05	0.30		0.60	
IPS Group	0.35 3 1.00			0.35	1	0.35	0.30	1	0.30	1.00

				Ra	ter #3 - Jennit	er Peters				
	proposed e	and performa quipment/soft se of the City period	ware for the		Presentation		processing a fees for an maintenanc charges for a	nd software and ancillary		
PROPOSING FIRM	Weight Factor Ranking Point Subtotal		Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Total Points Awarded	
Flowbird	0.35 2 0.70				2	0.70	0.30		0.90	2.30
Global Parking Solutions	0.35	3	1.05	0.35	3	1.05	0.30	2	0.60	2.70
IPS Group	0.35 3 1.05 0.35 1 0.35			0.35	1	0.35	0.30	1	0.30	1.00

					Rater #4	I - Jeffery Dav	vis							
	proposed ed	and performa quipment/soft se of the City period	ware for the	Presentation			processing a fees for an maintenand charges for a	cluding the cost of and other service nual hardware and eagreements, and other necessuipment or service.						
PROPOSING FIRM	Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Total Points Awarded	Total Combined Points	Average Points Awarded	Total Final Score	FINAL RANKING
Flowbird	0.35	2	0.70	0.35	2	0.70	0.30		0.90	2.30	9.20	2.30	2.30	
Global Parking Solutions	0.35	3	1.05	0.35	3	1.05	0.30		0.60	2.70			2.70	3
IPS Group	0.35	1	0.35				0.30	1	0.30	1.00	4.00	1.00	1.00	1



CITY OF FORT LAUDERDALE RFP EVALUATION COMMITTEE TABULATION - FINAL RANKING - Multi-Space Pay-By-Space

12342-805

RFP# TITLE: Parking Meter Technology, with Maintenance and Support

	DATE:		9/9/2020											
		Rater #1 - Shelly Bradshaw												
	proposed e	s and perform quipment/soft se of the City period	ware for the		Presentation		Total Cost in processing a fees for an maintenanc charges for a eq							
PROPOSING FIRM	Weight Factor			Weight Factor	Ranking	Point Subtotal				Total Points Awarded				
Flowbird	0.35		0.70	0.35	2	0.70	0.30		0.90					
Global Parking Solutions	0.35 0.35		1.05 0.35			1.05 0.35	0.30		0.60					
IPS Group	0.35	'	0.35	0.35	ı	0.35	0.30		0.30	1.00				
				Ra	ter #2 - Juan I	Rodriguez								
	proposed e	s and perform quipment/soft se of the City period	ware for the		Presentation	. To any do Z	Total Cost in processing a fees for an maintenanch charges for a eq							
										ints				

		Rater #2 - Juan Rodriguez											
	proposed ed	and performa quipment/soft se of the City period	vare for the		Presentation		Total Cost in processing a fees for an maintenanc charges for a eq						
PROPOSING FIRM	Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Total Points Awarded			
Flowbird	0.35		0.70	0.35	2	0.70	0.30		0.90				
Global Parking Solutions	0.35		1.05	0.35	3	1.05	0.30		0.60				
IPS Group	0.35	1	0.35	0.35	1	0.35	0.30	1	0.30	1.00			

		Rater #3 - Jennifer Peters												
	proposed ed	and performa quipment/soft se of the City period	ware for the		Presentation		Total Cost in processing a fees for an maintenanc charges for a equ							
PROPOSING FIRM	Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Total Points Awarded				
Flowbird	0.35	2	0.70		2	0.70	0.30		0.90	2.30				
Global Parking Solutions	0.35	3	1.05	0.35	3	1.05	0.30	2	0.60	2.70				
IPS Group	0.35	1	0.35	0.35	1	0.35	0.30	1	0.30	1.00				

	The fitness and performance of the proposed equipment/software for the intended use of the City during test period			Rater #4 - Jeffery Dav			Total Cost including the cost of equipment, processing and other services, warranties, fees for annual hardware and software maintenance agreements, and ancillary charges for any other necessary software, equipment or services							
PROPOSING FIRM	Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Weight Factor	Ranking	Point Subtotal	Total Points Awarded	Total Combined Points	Average Points Awarded	Total Final Score	FINAL RANKING
Flowbird	0.35	2	0.70	0.35	2	0.70	0.30	3	0.90	2.30		2.30	2.30	2
Global Parking Solutions	0.35	3	1.05	0.35	3	1.05	0.30	2	0.60	2.70		2.70	2.70	3
IPS Group	0.35	1	0.35	0.35	1	0.35	0.30	1	0.30	1.00	4.00	1.00	1.00	1